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F-3041

B.Com. (Part - II) Examination, 2022
(Old Course)

(Group-III : Applied Economics)
PAPER FIRST

BUSINESS STATISTICS

Time : Three Hours] [Maximum Marks:75

 


Note :Attempt all the five questions. One question
from each unit is compulsory.  All questions
carry equal marks.

1 / Unit - 1

1. 

P.T.O.
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

Discuss causes of distrust of statistics and methods
to remove distruct of statistics.

 / OR




 

 

 

 

 

 

 

 

Calculate mean, median and mode from the following
Table:
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Size Frequency

Less than 5 7

Less than 10 20

5-15 38

15 and above 55

20-25 20

25 and above 5

30 and above 1

2 / Unit - 2

2. 

      

      




The marks obtained by 40 students in an examina-
tion are as follows:

Marks : 0-4 5-9 10-14 15-19 20-24

Student : 4 11 16 6 3

P.T.O.
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Calculate median, quartile and Bowley's coefficient
of skewness.

 / OR

      


What do you mean by standard deviation? Describe
merits and demerits of standard deviation.

3 / Unit - 3

3. 


          

          

          

Find coefficient of correlation between sales and ex-
penses of the ahead 10 firms-

Firm 1 2 3 4 5 6 7 8 9 10

Sales 50 55 55 60 65 65 65 60 60 50

    Expenses 11 13 14 16 16 15 15 14 13 13
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 / OR



A 44 46 46 48 52 54 54 56 60 60

B 36 40 42 40 ? 44 46 48 50 52



Calculate Karl Pearson's correlation coefficient.

A 44 46 46 48 52 54 54 56 60 60

B 36 40 42 40 ? 44 46 48 50 52

Take the real mean from 52 to 44 respectively.

4 / Unit - 4

4. 

Compute Fisher's ideal index No. from the data given
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below:

Commodities        Base year Current year

Price Quantity Expenses Quantity
(in Rs) (in Rs) (in Rs) (in Rs)

P 30 40 2000 50

Q 22 20 1050 50

R 54 15 1320 55

S 20 40 2340 45

T 15 30 630 15

 / OR

         


       

       

Calculate trend  values by the method of least  squares
from the data given below:

Year 1979 1982 1984 1985 1987 1988 1990

Values 75 67 68 65 50 54 41
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5 / Unit - 5

5. 


What is meant by business forecasting? Discuss
briefly the important theories of business forecasting.

 / OR







A bag contains 1 white and 4 black balls. The second
bag contains 2 white and 3 black balls, where the third
bag contains 3 white and 2 black balls. One bag is
drawn at random and two balls are taken. If both balls
are white then calculate the probability such that the
balls belongs to the second bag.


